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1. Introduction
This document is a text proposal to Radio Frequency (RF) system scenario TR (36.942) on the base station blocking simulation results, on the basis of [1]. The text proposal is shown as track changes.
2. Reference
[1]

R4-070088, “E-UTRA base station blocking simulation results”, Siemens Networks, RAN4#42
3. Text Proposal
---------------------------------------- START OF TEXT PROPOSAL ----------------------------------------
7.1.4 Base station blocking simulation results
Figure x.x. and Figure y.y. show the CDF curves of the total received power level in 10MHz bandwidth at the own system base stations in other system operating frequency (blocking scenario) from all other system terminals, using power control parameter set 1 and set 2, respectively. The signal from all own system terminals was decreased by 49dB (assuming terminal noise floor of -30dBm/1MHz it is 49dBc/3MHz for a 24dBm terminal). The same simulator and simulation assumptions were used as for coexistence studies in uplink for the E-UTRA system in 10MHz system bandwidth.
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Figure x.x. CDF of the total received power level at the own system base stations (10MHz) from all other system terminals, PC set 1
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Figure y.y. CDF of the total received power level at the own system base stations (10MHz) from all other system terminals, PC set 2

Total received power level was assumed here for simplicity, however it should be noted that this may be pessimistic as the most relevant RX impairments are a nonlinear function of the blocker received power levels present at the receiver input. Therefore, it is proposed the mean power of the interfering signal is equal to -46dBm which corresponds to the worst case MCL conditions (24dBm maximum terminal transmit power - 70dB MCL = -46dBm).
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